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2B 1
AR I x%-4=0

R sHEAR fFERE
X?=4 5 x=42 ERFHIR > x=+/4 FAEIEESE 0 MERR



2B 2
AR L (x+3)2=16

R sHEAR fFERE
x=13 x=-7 X+3=44>x=-3+4 ERFHIE » FERIE



2H 3
TR I x*-6x+9=0

R sHEAR fFERE
x=3 (E1R) (x-3)>=0°x-3=0 BRATEFEHA  FEER



ZHH 4
TR L x2+10x+25=0

R sHEAR fFERE
x=-5 (E1R) (x+5)2=02 x+5=0 SEFA » BREAHWE



Z=E 5
ERTEI f4x2-9=0

PRE FHERE EZ1REE
X =+3/2 4x2=9 > x2=9/4 > x=+/(9/4) EREAR  AEDHEEHA



B
=H 6
AR L (x-2)(x+3)=0

R sHEAR fFERE
x=28x=-3 X-2=08¢x+3=0 KD AT » BiEsKEE



=8 7
EAFETL - x2-2x-3=0

R sHEAR fFERE
x=38 x=-1 (x-3)(x+1)=0 MR DR - e MmEFEtE



=HE 8
FRFTETN | x2+8x+15=0

R sHEAR fFERE
x=-38 x=-5 (x+3)(x+5)=0 EX DR > BEEIRRES



=E9
RFFEIL  2x2-5x-3=0

R sHEAR fFERE
x=38{x=-1/2 (2x-3)(x+1)=0 BEAAL » AN DRI



2H 10

FRAFEIL - 3x2+10x+3=0

R sHEAR fFERE
x=-38{ x=-1/3 (3x+1)(x+3)=0 ZEA3  FERERXHERHK



